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Coordinate Geometry

= LR 31X URUI (Main concepts and result) > Udh ﬁg @ fcen® uga ﬂ@gﬁﬂ H(+H+H) D T D
> TP dd ¥ Ud 9] R TE g o1 v iR TR QAT H (-H) B BT B AR FGAT H (-,-)
[SEECK| NI RCICENG | ™Y 9T H (+,-) & BU DI
FRA B forg ar [ Nl B Brell T U B AR AT TGAT HF (+,-) B Il
& foRm o AIfrsT BIell 8 3iR Su’l Feaier il 2 T8l + U TS aR<fad AT Bl 3R - Uh
2 FOMHS qRAAD TRAT BT Fdd DR @ |
To determine the location of an object or a point in .The coordinates of a poiqt are of the form (+,1)
a plane, two perpendicular lines are required, one n th? first qugdrant, (-1) in the secolnd quadrant,
horizontal and the other vertical. (--) in the third quadrant and (+,-) in the fourth
> qe @I HER AT RS a9 BEl ol © ek quadrant, where + represents a positive real
e 3 numl;er and — represents a negative integer real
The plane is called the Cartesian or coordinate number:
plane and the lines are called coordinate axes. > e (xAy) B A (oy)# (vx) BT SR Af (x=y)
> AT Y B ot SR SedlER N By y—3el g}fﬁ (;,Y):t(}}f X) T' L e
HET ST é‘l (X gi( )}(’;: en(xa}I) (Y>X) and 1 (X Y)a cn
The horizontal line is called the x-axis and the Y7 X
Vertic.al line is called the y—?.Xi.S. i . . Multiple Choice Questions
> e st @ IR 9r H dle <d §, o (@gfaderdia ge)
TIJATeT Bl S ¢ | . :
The coordinates divide the axis into four parts, aAd weT & fag an faven fag g &) 7 @
which are called quadrants. el fadey &1 wa Pifor:
> 3l & Ul ﬁ@ Bl ic,lfg'rg HET ST B Four options are given for each question. Select the
The point of intersection of the axes is called the ~correct option : _
origin. 1. &rdfg aa % 39 &afas ¥@r s1 9 W i
> y-3E 9 el g @ g0 @1 SHaT «- fdena fag @1 Refd fFraiRa sl 2, sgerd 8-
T Yol PET ST & | |1 8, x- 31e | fa=g 3 a. 9o fdg b.  x—3f&
I Bl y-Frdenad a1 Pife w1 S B | c. y—3E d. =gt
The d1stan§e of a pomt. from the y-axis 1s called The name of the horizontal line in the cartesian
its x—cgordlnate or absc_lss.a. Also, the d1stgnce of plane which determines the position of a point
the .pomt from the x-axis is called y-coordinate or is called:-
ordinate. a.  Origin b.  x-axis
> afe Tw ﬁ% ®r S X 8l SR BIfe Y&l o c. y-axis d.  Quadrants
(X,Y) &1 fag & e wer omar 2 _
If the abscissa of a point is X and the ordinate is Y, ~ 2- ST Tol § S HeafeR @1 &1 A9 ol U
then (X,Y) is called the coordinate of the point. ]Qefg 31 Rerfa fAafRa a3t 2, dgarh 2 —
> x—31E R & g & fewne (X,0) & w9 & a. Hd fdg b, x-3ieT
B & 3Ryl W fag & fAdend (0Y) & c. y-3neT d. =gl
wl P ﬁﬁ &l ) ) The name of the vertical line in the cartesian plane
The coordinates of a point on the x-axis are of the which determines the position of a point is called:-
form (X,0) and the coordinates of a point on the a. Origin b.  x-axis
y-axis are of the form (0,Y). c.  y-axis d.  Quadrants
> o fdg @1 fder® (0,0) B € T . Rerfr e \
The coordinates of the origin are (0,0). 3. a4 ad A ﬁ{{, Ell ) Ra
arell &fas SR eafar Y@l grr Fffa
HaTT- 9 (o) —




Gs B Hel Wrdl 2— lies in:-
a T g b, x-areT a. F1r§t quadrant b.  Second quadrant
oy d gt c.  Third qu_adrant d._ Fourth qu_adrant
The section formed by horizontal and vertical 8. Afe fadft Ny @ Fcwie (3,4, df @
lines determining the position of the point in a Rera 2:—
cartesian plane is called:- a. UM TgUe b. fe<ira =agerter
a.  Origin b.  x-axis c. A =g d. =g =gl
c.  y-axis d.  Quadrants If the coordinates of a point are (-3, -4), then it lies in:-
ot aa A fedl fig @1 Refa fFeiRa a.  First quadrant b.  Second quadrant
B qrel afdwr 3R Seafar ¥Em=# &1 c.  Third quadrant d. Fourth quadrant
wfirese g dearr 2 9. g (1,2),(-2,-3), 2,-3) Rera 2
a. Hd fdg b, x-37& a. WM Tgat
c. y-3%e d. a—g'g;ﬁ'g'[ b. TH & ﬂg?ﬁ'ﬂ # Rerg 781 ©
The point of intersection of horizontal and vertical c. T ﬂgQﬁ'ET
lines determining the position of a point in a carte- d. z@a‘ z@gﬁ-ﬂ
sian plane is called:- Points (1, 2), (-2, -3), (2, -3) lies in :-
a.  Origin b.  x-axis a.  First quadrant
c.  y-axis d.  Quadrants b. Do not lie in the same quadrant
afe fedr g @ FAdena (0,-4) 2, @ a8 c.  Third quadrant
Rera a:— d.  Fourth quadrant
A x-3TeT 10. af& 'a>0 3R b<0, di 45 P(b,a) Rera@ z:—
b. y-3& a. ﬂg?ﬁ'ﬂ v b. ?lg?aﬁ'?T I
c. W fig W c. Tgmer Il d. =gl 1
A x-3f AR y-31Er @ If a> 0 and b <0, then the point P(b,a) lies in:-
. . . a. quadrant [V b. quadrant |
:ife :l:::l .coordlnates of a point are (0, -4), then it ¢.  quadrant Il d.  quadrantII
4 vaxis 1. | agsﬁ*q 4 U fdg @& 4 iR alfe &
b. y-axis fae w9 8-
c. Atorigin a. (+7) b. ()
d. Between x-axis and y-axis ; ( _t" :12 b dd' 4 (=-) ]
. . . igns of the abscissa and ordinate of a point in
afe fah ﬁg @ fidwis 3,0 €, qt @8 th% second quadrant are respectively:- b
Rera 38— a. (+1) b. (+.-)
a. x-3& c. (=% d -
b.  y-3FeT 12. fag (-10,0) Re@ 23—
c. o fdg W a.  qard Fgte
d. x-31eT 3R y-31eT & = b. g =gl
If the coordinates of a point are (3, 0), then it c. x-318 P EUMHD 97 W)
lies in:- d.  y-3ieT @ FoTES QR W)
. X-axis The point (-10, 0) lies in:-
b. y-ax1§ ) a.  Third quadrant
c.  Atorigin ) ) b.  Fourth quadrant
d. Between_x -axis and y-axis _ c.  On the negative direction of the x-axis
fe feelt fig & Frdens (3,4) € at a8 d.  On the negative direction of the y-axis
Rera 2:— 13. U& agier forH x 3R y <91 99 FoIcas
a.  ¥H TgATe b. fgdra agate ¥
c. T T d. =gy g a. W Tqute b, @ aguty
If the coordinates of a point are (-3, 4), then it c Fﬁﬁ'&[ ﬂgQﬁ'ET d. ﬂgﬁ €|§24'T'ET
FHaT- 9 (1fore) (57




A quadrant in which both x and y values are
negative is:-

The point which lies on the y-axis at a distance of
5 units in the negative direction of the y-axis is:-

a.  First quadrant b. Second quadrant a. (5,0 b. (0,5)
¢.  Third quadrant d.  Fourth quadrant c. (-5,0) d. (0,-5)
14. x-31 R 9l fage1 &1 g1 2:— 21.  afq a<0 3R b<o, a1 f4g P(a,b) Rera 23—
a. 0 b1 a. =gl v b. =gl I
c. -l d. @ 9= c. @gate I d.  =guterl
Abscissa of all the points on the x-axis is:- If a<0 and b<0, then the point P(a,b) lies in:-
a. 0 b. 1 a. quadrant [V b.  quadrant II
c. -l o d.  Any number c. quadrant III d. quadrant I
15, x-3id W weh fdgal a1 #ife - 22. 3 fdg (qa g @ sraman) e fag o
a. 0 b. 1 Fife & saR 8, Red 8-
c. -l d.  @F 9= a. wgufe I ddea b, wgAfw I aR I
Ordinate of all points on the x-axis is:- c. TGARMIARIMI d.  Haed agAier 11
a. 0 b. 1 The points (other than the origin) for which the
c. -l d.  Any number abscissa is equal to the ordinate lie in:-
16. fa=h ﬁf@ DT Hol g-TcHD Bldr 8:— a.  Quadrant I only b.  Quadrant I and II
P | ﬂg@ﬁ'@'{ k1 b. 13RIl ﬂggﬁg‘[ ki c. Quadrantand I d. Quadrant I only.
c. Il Tgefer ¥ d 1R IV aguter & 23, y-3@ @ farg P4,3) B argaq it @
Abscissa of a point is positive in:- a.  3HESD b. 4 AED
a. I quadrant b.  Iand II quadrants c. 5 HMHE® d. 7HHAD
c. II quadrant d. TandIV quadrants The perpendicular distance of the point P(4,3)
17. g (1,-1), 2,-2), 4,-5), (3, -4):- from the y axis is:- .
: a.  fadr =gty § Re 3 a. 3 Unf[s b. 4 Un%ts
b agerter # Rer 5 c. 5 Units d. 7 Units
- & N 24.  0(0,0), A(4,0) 3R B(0,6) drcl sl OAB &7
c. IV Tgare ¥ Rerd
N g%l B—
d. TS & agule § T8 8 it b1 o
Points (1, -1), (2, -2), (4, -5), (-3, -4):- & '
a. lie in II quadrant c. 16T A=S d. 24 o A=
b.  lie in III quadrant The area of triangle OAB with 0(0,0), A(4,0) &
c. liein IV quadrant B(0,6) is:- ' .
d.  Does not lie in the same quadrant a.  8sq. unit b. 12sq. units
18.  y-3ieT W asH ﬁgaﬁ PT [ o c. 16 sq. units d. 24? sq. units
X 0 b1 25. I P(3,2) 3R Q(2,3) W& @ f4g &1 ufafifera
. A 2P
c. -1 d. @3 G=0 %
Abscissa of all the points on the y-axis is:- a. @&l b. I
a 0 b, 1 c. adiR b gl d. 398 9 PIg T8l
c. -1 d.  Any number Is P (3, 2) & Q(2, 3) represent the same point?
19.  y-31er W wY fagan &1 sife 2 a. Yes b No
y 0 $ b1 c. bothaandb d.  None of these
a. . e
o J 26. fdw agaiy # 45 P(3,0), Q(6,0) , R (-7.0), S
. . Ty 6 R o
Ordinate of all the points on the y-axis is:- (0,-6) i e i
a0 b1 a. g IV b. =gl I
| d.  Any number c. ?@?ﬁ'ﬂ 111 .d. ERE IS ECIEE
20. 98 ﬁg ol y-318T X y-31eT &) FolcHd e In which quad.rant points P(3,0), Q(6,0) , R
¥ s f ) <@ W R 8 (-7.0), S (0,-6), lie?
5 0 X b 0' 5 a. quadrant [V b.  quadrant II
a. (5.0 - (0.5) c. quadrant III d. None of these
c. (-5,0) d.  (0,-5)
HaTT- 9 (o) —




27.  af& a>0 SR b>0, d 45 P(a,b) Rer@ 23— a. 9ol 12 3R Ife 8
a. GgAler v b. =gl I b. 99 8 3R DI 12
c. gt Il d T 9 PS5 T8I c. 99 0 3R PIfe 20
If a>0 and b>0, then the point P(a,b) lies in:- d. 38 9 bl Tl
a. quadrantIV b.  quadrant II The abscissa and ordinate of the point with
c.  quadrant III d. None of these Coordinates (8, 12) is:-
28. @ieX ?R:[,?JIfQT 7 (x,y) 8— a. abscissa 12 and ordinate 8
a. (+ 1) b. (+-) b. abscissa 8 and ordinate 12
c. (=1 d () c. abscissa 0 and ordinate 20
In fourth quadrant (x,y) is:- d. none of theée
2 (+) b, (Ho) 35. "o agAle # (xy) 88—
c. (=) d - a. (£ b (+-)
C. ( B +) d. (7’ 7)
29. x-31& 9 P(12,5) ¥ o ¥ad ¢ 2
. ﬁ?‘;’ (12,5 L% g In first quadrant (x,y) is:-
a.  1395® b. 4 AE®H . (44 b, (+-)
c. 5 ¥HMHE®D d. 7 "D c. (=) d (-
The perpendicular distance of the point P(12,5) )
from the x axis is:- 36. y-—3@ 9 fdg (5,3) o -
a. 13 Units b. 4 Units a. 2 HHAD b. 3 #AF®
c. 5 Units c. 7 Units c. 5 "= d 13 956
30.  0(0,0),A(4,0) 3R B(0,3) dral <1 OAB &1 The distance of the point (5,3) from y-axis’s:-
a9%d &— a. 2 units b. 3 units
a6 T AE® b. 12 ot 7= c.  5Sunits d. 13 units
c. 16wt AHD d. 24 @ 5@ 37. 45 (2,-1) 7 Rerd 8- o
The area of triangle OAB with 0(0,0), A(4,0) & a. g UgurrH b fgcl ugefe |
B(0,3) is:- c. EEagAH d. =gy Fgat |
a.  6sq.unit b. 12 sq. units The point (-2, -1) lies in:-
c. 16 sq. units d. 24 sq. units a. 1stquadrant b.  2nd quadrant
3. dRR zﬁlgqf{)‘[ 7 (x,y) 8:— c.  3rd quadrant d.  4th quadrant
a. (+4) b, (+-) 38. fa=g (13,0) w* Rera 28—
c. (=1 d - a. +vex31& b. —vex 3&
In third quadrant (x,y) is:- c. +tvey3i&l d. —vey?3&
a. (+ 1) b. (+-) The point (13,0) lies on:-
c. (=1 d () a. tvexaxis b. —vexaxis
. ) c. +tveyaxis d. -veyaxis
32. X"o’mzﬁ g (3,-2) H?L q\ﬂﬁ_ 39. x-31e7 9 f4g (-3,5) @ & -
a. HIAD . HIAD
a. 3 "D b. 4 "HE®
c. 5 HHEAD d. 13 "9F®
The distance of the point (-3, -2) from x-axis is:- “ 5. . d. 6 . .
a2 units b 3 units The distance of the point (-3, 5) from x- axis is:-
c.  5units d. 13 units a. 3 un%ts b4 un%ts
13 e 6. 2) 4 =@ 2 c.  5Sunits d. 6units
: y-3m6 $ (-6,-2) X X 0 o 40. 35 (0,-5) W Rera 23—
& 5 d‘ g a. tve x—31& b. —vex—3&
c. HIAD . HIAD
The distance of the point (-6, -2) from y-axis is:- c. Ve y— 3t . d.  —vey-3®@
a6 units b 10 units The point (0, -5) lies on:-
c' N uni ts d‘ 2 Ei s a. tve x-axis b. —vex-axis
34 ﬁf,’ U s 1) ard R ) " ate B 2 c. +vey-axis d. —vey-axis
‘ M (3,12) § P 41 O (-2,5) Rera -
FET- 9 (Tfora) (H52)




a.  TUH Tl b, fedia =gt
c. g =g d. =g =gl
The point (-2, 5) lies in:-
a. lst quadrant b.  2nd quadrant
¢.  3rd quadrant d.  4th quadrant

42. x-31g 9 &g (-3,0) o & 2
a. 3 HHAD b. 0 "9HF®
c. 9 AE® d T ¥ PIS T8I
The distance of the point (-3, 0) from x- axis is:-
a. 3 units b. O units
c. 9 units d.  none of these

43. fr=faRea 4 4 @9 @1 A5 R agais |
Wt &
a. (2,3 b. (3,2)
c. (2,0 d (42
Which of the following points belongs to 2nd
quadrant:-
a.  (2,3) b. (3,2)
c. (2,0 d (42

44. =X fosh fig & fdois (4,00 &, @ a8
Rera 3:—
a. Xx-3& W
b. y-3& W
c. Ho ﬁg W
d. x-31eT 3R y-317 & d1°
If the coordinates of a point are ( -4,0), then it
lies:-
a. Atx-axis
b. Aty-axis
c. Atorigin
d. Between x-axis and y-axis

45. Ffx feh fig @ fdens (0,8) F, @ a8
Rera 3:—
a. x-3&
b. y-3&T
c. Hd ﬁg EN
d.  x-31eT 3R y-31eT & 94
If the coordinates of a point are (0, 8), then it
lies in:-
a. Atx-axis
b. Aty-axis
c. Atorigin
d. Between x-axis and y-axis

46. Ffx fodt fig @ fdwis (7,5 2, af a8
Rera 3:—
a. ¥H Fgfe b.  feda =gerta
c. A =g d. =g =gl

F&TT- 9 (IT0r)

48.

49.

50.

51.

52.

If the coordinates of a point are (-7,5), then it
lies in:-

a.  First quadrant b.  Second quadrant
c.  Third quadrant d.  Fourth quadrant
Ife fedl fdg @ Fde® (9,-3) @, df a8
Rera 38—

a. UM agAe b. fe<ira agafa

c. A =gt d. =g =gl

If the coordinates of a point are (-9,-3), then it
lies in:-

a.  First quadrant b.  Second quadrant
c.  Third quadrant d.  Fourth quadrant
frafafaa 9 4 @19 a1 45 gl agaie
A4 Rerd 22

a. (1,3) b. (1,-3)

c. (0,4 d (4,-2)

Which of the following points lies in 3rd
quadrant?

a. (1,3) b. (1,-3)

c. (0,4 d (4,-2)

39 41 f9g x-31e7 & HuR Rera 27
a. (-1,-2) b. (2,0)

c. (-1,-5) d.  (0,-3)
Which point lies above the x-axis?

a. (-1,-2) b. (2,0)

c. (-1,-5) d.  (0,-3)
agel agafe 4 a9 a1 fdg Rera @2
a. (3,4 b, (2-4)

c.  (2,3) d (0, 1)
Which point lies in the IV quadrant?

a. (3,4 b, (2-4)

c.  (2,3) d (0, 1)

39 41 fIg y-31e & 918 3R Rera 27
a. (2,0 b, (-2,-4)

c. (52 d  (3,6)
Which point lies on the left of the y-axis?
a.  (2,0) b, (-2,-4)

c. (52 d  (3,6)

fag (1,2), (2,3) Rera 2:—

a. U wgte §

b. UH B =gy # Rea 7@l B

c. qard Fgter d

d. =g wgeta §

Points (1,2), (2,3) lies on:-

a.  First quadrant

b. Do not lie in the same quadrant
c.  Third quadrant

d.  Fourth quadrant

aft el iz @1 xPideie =1 2, At fig




Rera 28—
a. VUH @Al W b, gERT AgAfe Hd
c.  x-31ET W d.  y-3ieT W)

If x coordinate of a point is zero, then the point
lies on:-

wR 2, a f§g PH 2:-
y-ferdene =7 a1 -7

a
b. y-de® = Faa 7
C
d

e -
y-TH&RMMh = Ddel -7

X-TeeMH = DI -7

a. Flrst.quadrant b. Seco.nd quadrant If the perpendicular distance of a point P from
€. Xaxis. o : d.  y-axis the x-axis is 7 units and the foot of the perpen-
4. ﬁ'g (-4,-8) # Rera & dicular lies on the negative direction of x-axis,
' a. ¥ agie | b. fgcia agafer 4 then the point P has:-
c. qarg gt H d. =g =guie | a. y-coordinate =7 or —7
The points (—4,-8) lies in:- b.  y-coordinate =7 only
a.  First quadrant b.  Second quadrant c.  y-coordinate =—7 only
¢.  Third quadrant d.  Fourth quadrant d.  x-coordinate = —7 only
55, fig (0,-2) Rera 2:- 60. UTH AR W fIG3T P(-3,8),Q (7,-5), R(-3,-8)
. x-38T W b, y-3ET R AR T (-7,9) Bt Frofda fear smar 2, de
c. v agutm d  d T Y e N agate d Rera -
The point (0, —2) lies:- a. PRT b. Q3RR
a.  On the x-axis c. dIaR d P3IRR
b.  On the y-axis On plotting P (-3, 8), Q (7, -5), R (-3, -8) and
¢.  Inthe first quadrant T (-7, 9) are plotted on the graph paper, then
d.  None of the above points in the third quadrant are:-
56. x-31e ¥ wfl fga &1 HId - a. PandT b. QandR
a 0 b 1 c. OnlyR d. PandR
e -1 4. o weie e 61 A @ fAgat & fidwia P(-7,5) 3R Q(-6,9)
Ordinate of all the points in the x-axis is:- g, @ (PDT Ho) - (Q BT o) &:-
a. 0 b. 1 a. 3 b 1
c. -1 d.  Any natural number c. 2 ) d. ‘—1
57. g (-1,-2), (-1, -3), (-4, -5), (-3, -3):- If the coordinates of .the two points are P(-7, 5).af1d
o Q‘cﬁ'& g O S (—612), then (abscissa ofg’) - (ileCISSZl of Q) is:-
b, fad aguter ¥ Rer & S i .
c. =g gty # Rerd ® 62. U fig &1 Yo gT9®d Bham a:-
d. TH & Fgee F Rerd T 8 a. 13RI =@gerfer & b, 18R IV =qafer §
Points (-1, -2), (-1, -3), (-4, -5), (-3, -3):- c. dae lugEl H  d e 1 agele H
a. Lie in Il quadrant Abscissa of a point i tive in:-
. point is positive in:
b. L%e mn II quadrant a. landIl quadrants b. IandIV quadrants
¢.  LieinIV quadrant . I quadrant onl d. II quadrant onl
d. Do not lie in the same quadrant ¢ Ay quﬁa o ?b‘ﬁ}% 2 gk q ﬁ{q—dyﬁ
58. afe fosh fig &1 y-Fidene = &, @t 98 63. :g (% ) 8 b ?T?) = -
fig Rera &:- ¢ (58) d (8,5)
a. fgd ﬂﬂ?ﬁ'ﬂ d b wed fl_g'?ﬁ'?T q The point whose ordinate is 8 and lies on y-axis:-
c.  x-318 W d. y-3rT W) a. (0,8) b.  (8,0)
If the y-coordinate of a point is zero, then this c. (59 d @45
point lies:- 64. y-31g wR & A A5 & FAdens® (0, k) ©U
a. InII quadrant b.  InI quadrant @ B &, oigl k fig @ 0 2
c. On x-ax_ls d. On_ y-axis a  y-al 3 b, x-ateT 3
59. uﬁWﬁgPaﬁx-aﬂﬁaa@7s?ﬂ§ c. fig o1 i fig (1,09
8 3R &9 I uIS x-3E B FonTS fawm The coordinates of any point on the y-axis are
FHaT- 9 (rfore) ==




of the form (0, k), where k is the distance of the c. agdRbaM
point from:- i
a.  y-axis b.  x-axis ?);,y) ?jwﬁ
c. (0.1 ) d. (1,0 . a. Two dimensional coordinate system
65. y-31& @ wndE U g (3,4) &1 ufafdq 2:- b.  Three dimensional coordinate system
a. (3,4 b. (3,4 c. Bothaandb
c. (3.4 d (3,4 d.  None
The mirror image of a point (3, 4) on y-axis is:- 72. B G YT x-3& ® GG &7
a. (3,4 b. (-3,4) _ _
a.  y=x+1 b. y=2
c. (3,4 d (3,4 e x=3 d x=2y
66. x-3eT @ g 5,00 @1 g e:- Which graph is parallel to the x-axis?
a. -3 HHAD b. SHMEA®D a.  y=xtl b. y=2
c. 09D d. 29&® c. x=3 d.  x=2y
The distance of the points (5, 0) from x-axis is:- 73 )9 g1 g x-e1er wr Rera ?
a. —3 units b. 5 units a. (3,2 b.  (-3,2)
c. O units d. 2 units c. (2,0 d  (-1,-2)
67. y-31eT a P ﬁ'g P (5,8) @I digad q\:ﬁ g Which point lies on the x-axis?
a. SHAE® b. 8HAE® a. (3,2 b (3.2
c. 3HEG d. 1395 ¢ (20 d 12
The perpendicular distance of a point P (5, 8) 7. ;ﬁ:{ (TT 3]‘)?@ y-Si&r W ]?i’rd (3?3)
from the y-axis is:- N (5’ 2) d (_2’ 3)
a. 5 units b. 8 units b e T
. . Which point lies on the y-axis?
c. 3 units d. 13 units a  (1,3) b (0,3)
68. UP fdg (x+2,x+4) uga aqguier ¥ Rea N (5: 2) d (_2”_3)
2 | e x-o1e & wrier ufdafda 5,-7) 81 75 @Y @ fig y-o1r @ <1$ ik Rera 22
X & AT T 87 a.  (0,3) b. (-2,-1)
a. 3 b. 5 c. (3,9 d (-3,-2)
c. -7 d -5 Which point lies to the right side of the y-axis?
A point (x + 2, x + 4) lies in the first quadrant, a. (0,3) b.  (-2,-1)
the mirror image for which the x-axis is (5, 7). c. (3,5 d.  (-3,-2)
What is the value of x? 76.  BIF H I@T y=x2 & FAFIAX 27
a. 3 b. 5 a.  y=2x+1 b.  2y=2x-6
c. -7 d -5 c. 2y=x+7 d.  y=3x+l
69. @I9 41 fdg x-3181 X Rerad 272 Which line is parallel to y=x-2?
a. (1,3) b. (0,1) a.  y=2x+l b. 2y=2x-6
c. (1,0 d. (0,0 c. 2y=x+7 d.  y=3x+l1
Which point lies on the x-axis? 77. TR AgATT A (x,y) B
a. (1,3) b. (0,1) a.  (+4) b, (+)
c. (1,0 d.  (0,0) c. (=) d (-
70.  ®IE AT ﬁ'g y-31e7 IR Rera 87 In second quadrant (x,y) is:-
a. (2,3) b. (1,0 a. (+ 1) b. (+-)
c. (03) d.  (0,0) c. (=1 d -
Which point lies on the y-axis?
a. (2,3 b. (1,0 Very Short Answer Type Questions
c. (03) d.  (0,0) (erfa org S yw)
71, (xy) fesmar &:— , ,
AN 3 Prser 5 1. %Qﬂgf?))gﬁv—ﬂaafwﬁeig%;
: i , il. -
b Premar fidwre some ii. (0, 6) iv.  (-5,0)
FaT- 9 (o) (e




On which axes do the given points lie?

1. (7,0) ii.  (0,-3)
iii. (0, 6) iv.  (-5,0)

2. feu g fdg fd =gater § Rerq €7
1. 4, -2) i.  (-3,7)
. (-1,-2) iv.  (3,6)
In which quadrants do the given points lie?
1. 4, -2) i, (-3,7)
. (-1,-2) iv.  (3,6)

3. x-31eT 3R y-3fe], JT @RI 9 91 dd & IAd
ART &7 &7 9M 2°
What is the name of each part of the plane formed
by two lines, x axis and y axis?

4. fr=faRed § 9 @9 @1 g gl agerre o

.

(@ 3,0 (b) (-1,-2)
(© (3,4 d 6.4
Which of the following points belongs to 3rd
quadrant
(@ 3,0 (b) (-1,-2)
(© (3,4 d 6.4

5. 39 fdg @1 M faRay S8l x-31e iR y-3ie,
QT Tt gfes s Bl § |
Write the name of the point where x axis and y
axis, two lines intersect.

6. fau wu fdg (2,0) 3R (5,0) & dr& Yof BT 3R
ST BT |
Find the difference of abscissa between the given
points (2,0) and (5,0).

7. Ry My &g (0,3) 3R (0,7) @ g P &7 iR
ST BT |
Find the difference of ordinate between the given
points (0,3) and (0,7).

8. fr=feiRad % & &9 41 fdg x-oe1 ¥ AT 22
(@ (2,0 (b)) (5,3)
(¢ (0,1) (d) (-2,0)
Which of the following points belong to the x- axis?
(@ (2,0 (b)) (5,3)
(¢ (0,1) (d) (-2,0)

9. MR IR &I @Rl | 99 F9dd & IAd
ART &7 9 fofay |
Write the name of each part of the plane formed
by Vertical and horizontal lines.

10. i ad | &0 g a1 Refa FuiRa &1 &
forg i 18 &S iR Feafer @il &1 M
RIT 57
What is the name of horizontal and vertical lines
drawn to determine the position of any point in

FHaT- 9 (1fore)

the Cartesian plane?
Short Answer Type Questions

(org, S uE)
g8 ggier A forad FeEfofad 4 9 a@s
fig Rerd =
i @0 (1)  (-7,11)
(i) (-6, -4) @iv) (-5,-5)
State the quadrant in which each of the following
points lie:
0 @1 (i) (7,11
(iii) (-6, -4) @1v) (-5,-5)

x-31eT & AT A5l (2, 3) 3IR (-4, -6) &1 ufafda
ferfag |

Write the mirror image of the points (2, 3) and
(-4, -6) with respect to the x-axis.

39 fdg & fcen® faRay S x-sfer ©R Rerd @
3R ot g & TR IR 4 &8 @ ¢ R 2|
SABT IT% g1 |

Write the Coordinates of a point which lies on the

x-axis and is at a distance of 4 units to the right of
origin. Draw its graph.

w1 Rigeil @ Piderie s AR o g7 a1 Rigall
P(3,0)3R Q(-3,0) & W99 ¢ WX 8| 39 ¥ Bl
RN BT aTel fha fawgeil wwa 27

Find the coordinates of points which are equidistant
from these two points P(3,0) and Q(-3,0). How
many points are possible satisfying this condition?

X318 3R y-31eT BT TUU & ®T H ITANT TRd

fArfeiad fdg @1 ufdfde =g SIfoTg |
i AQ3) ii. B(2,-3)
iii. C(-2,3) iv.  D(-2,-3)

Find the mirror images of the following point
using x-axis & y-axis as mirrors.

L AQ23) ii.  B(2,-3)

i, C(-2,3) iv.  D(-2,-3)

Long Answer Type Question
(el Sada geA)

=IfeiRad # | TR% g &1 HRi ddt H MeiRed
BT |

a.  (3,4) b.  (-3,-4)
c. (0,-5) d.  (2,-5)
e. (2,0

Plot each of the following points in the Cartesian
Plane
a. (3,4 b. (-3,-4)




c.  (0,-5) d (2,5

Multipule Choice Question

e. (2,0 agfideh et
o <Ray &R Fre=ferRad &1 forfRag:- ( s )
v I. b 2. ¢ 3. d 4. a 5 b 6. a
} 7.b 8 ¢ 9 b 10.d ll.c 12.¢
* 13.¢ 14d 15.a l6.d 17.d 18.a
‘3‘:: 19. d 20.d 21. ¢ 22. ¢ 23.b 24.b
B 2 25. b 26.d 27.d 28.b  29.¢ 30.a
e LM AT — 3l. d 32.a 33 a 34.b 35.a 36.c
65432 12343556 37. ¢ 38.a 39.c¢ 40.d 4l.b 42.b
2 43. d 44. a 45. b 46. b 47.c¢ 48.d
H M - 49. b 50.b 5l.b 52.a 53.d S54c
E :2__ C 55. b 56. a 57. a 58. ¢ 59.¢ 60.c
3‘{' 61. d 62. b 63. a 64. b 65 b 66.b
. : 67. a 68. a 69. ¢ 70. ¢ 7l.a 72.Db
(B @1 Pt | (i) C 1 Fei | 7.c T4 b T5.c T6b Tlc
(i) Fen® (-3,-5) §RT ygaMT 7 4 |
(iv) FEie (2,4) RT vEaET oI g | ot e o1 o)
(v) g Dar gt (vi) 5 H 1 e | . i.(7,0) — x- o
(vii) f§g L a1 denas | (viii) fdg M @1 fdena | ii. (0,-3) — y- 3781
See Figure, and write the following:- %ii' 0.6) — y-<H&
N iv. (-5,0) — x - 31&T
. _A_ i.(7,0) — x-axis
5L ii. (0,-3) — y - axis
Nl iii. (0,6) — y - axis
B 2 iv. (-5,0) = x - axis
Xie I ]\%I I Il I } I > 2. 1. (4,-2) — 2rerT ﬂggﬂ—%—f
6543211234356 ii. (-3,7) — ORT TgAta
pall iii. (-1,-2) — fIRT Fgerter
H 4 G iv. (3,6) — g agTe
. ‘% _v_ ¢ i. (4,-2) — Fourth Quadrant
Y' ii. (-3,7) — Second Quadrant
(1) The coordinates of B. (ii) The coordinates of C. iii. (-1,-2) = Third Quadrant
(1ii) The point identified by the coordinates (-3, —5). iv. (3,6) — First Quadrant
(iv) The point identified by the coordinates (2, — 4). 3 ﬂ?j?ff%T (Quadrant)
(v) The abscissa of the point D. (vi) The ordinate 4 (1.2) 3R (3.4)
of the point H. (vii) The coordinates of the point L. ' ’ ’
(viii) The coordinates of the point M. (-1,-2) and (-3,-4)
ToF {g (0,2), 3, -2), AR (3,2) F Fritg 5 A 97 (Origin)
Tel TR IMeIRad axa a1 B[l &1 &% g1 6. oIl BT AR =5-2 =3 Ans
PIRTT | Difference of abscissa = 5-2 = 3 Ans
Find the area of the triangle formed by plotting 7, BIET BT AN = 7-3 =4 Ans
the' points (0, 2), (3,-2), and (-3,-2) on the Car- Difference of ordinates = 7-3 = 4 Ans
tesian plane. 8. (2.0) 3R (-2.0)
Fa- 9 (WI0N) —




(2,0) and (-2,0) C(-2,3) (-2,-3) (2,3)

9. gorq =qler (First Quadrant) D(-2,-3) (-2,3) (2,-3)

g fl—g'?ﬁﬂ (Second Quadrant)
q_c‘ﬁ?? ?zlﬂ%ﬁ‘ﬂ (Third Quadrant)

Points | Mirror image of | Mirror image of

) W.I..t x-axis W.I..t y-axis
3@9«? ﬂﬂé‘ﬁ‘ﬂ (Fourth Quadrant) A3) (2,-3) (-2,3)
10.  x - 37T 3IR y -3fe B(2,-3) (2,3) (-2,-3)
X - axis and y -axis C(-2,3) (-2,-3) 2,3)
Short Question Answer D(-2,-3) (-2,3) (2,-3)

(&g gel &1 STR)

Long Question Answer

i.(2,0) — yoH TgAe ( <ref gt &1 9ax )
ii. (-7,11) — fg<ig =qgerter Y
iii. (-6,-4) — geTa agfer L A Scale
iv. (-5,-5) = (——B—ﬁ'q %@gﬁ'ﬂ 6 -1 1 big division = 1 unit
s 1
i. (2,0) — First Quadrant 4 (3.4
ii. (-7,11) = Second Quadrant 3
iii. (-6,-4) — Third Quadrant T B
T (2,0
iv. (-5,-5) = Third Quadrant Xe I i I ‘I I I @0 | I ‘l >
x-317 & e fdg (2,3) @1 ufafds = (2,-3) 6-5432-19- 123456
. . 2
x-31eT & AveE g (-4,-6) BT Ufifda= (-4,6) 3+
Mirror image of (2,3) w.r..t x-axis - (2,-3) (-3,-4) -4
Mirror image of (-4,-6) w.r..t x-axis -(-4,6) (0.-5) :g 1 @5
(4,0) N
Y
0 2. i (-52) v. 6
‘3‘ T i (5.-5) vi. -3
7 iii. E vii. (0,5)
1 (4.0) iv. G viii. (- 4,0)
X1 | I I G
IR T 3 Y
432 -1+ 1 234
B 4
3 3
pul ) 4A02)
M 1 __
: X oAb
(0.k) ST8T k IS aRdfdd T 2 | 43214+ 1234
. (-3,-2) @B *(3.2)
(0,k) where k is any real number B 3T C
Infinite 4T
\/
YV

fa=g x—aﬁiﬁﬁwﬁ & y_GI&TEF}I%ﬂTﬁ%&T ]%‘WABczmgﬁaw:%X6X4=12aﬁml

AQ2,3) (2,-3) (-2.3) (AABC)= + X6x4=12 it
ar = 5 = 12sq. units.
B(2,-3) (2,3) (-2,-3) 2 T
FHaT- 9 (1fore) f )






